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40 PRINT
WA B | 50 LET F1=F=« COS(B=3.14/
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10 READ G,P,L,A,B
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10 READ L,P,G
20 LET Li1=1.5
30 LET Lo=L/2

40 LET N2=(G*Lo+P=«L1) /L
50 LET N1=G+ P-N2

60 PRINT “Ni=7”;N1,“N2="7"3;N2
70 DATA 2,40,4

80 END
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ULIST
10 LET A=5
20 LET B=12

30 LET C=9

40 LET Ti=C+ SQR (A*A+Bx
B)

50 LET T2=A= SQR (B « B+C =«
C)

60 LET P=T1/T2

70 PRINT“TAB : TBC=7;P
80 END

URUN

TAB: TBC=1.56
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ULIST

READ M,L,L1,L2

LET L3=L-11

LET W=9.8xM

LET F2=W % (L3-L2)/(L-L3)
LET F1=W+F2

DATA 0.6,10,4,1

PRINT *“F1="3;F1,*F2="yF2
END

URUN
Fi1=18.28 F2=17.35
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f= ‘.'lz.‘Gz =1 ( :F}'E )
N = Tcos45° = Tsin45°

=2 (F3)

F=vi24+ N =y 5=2.2(FR)

o= arctgi =arctg¥

N
a = 26° 36’

12

(1)
c2)
W 7 P&, W B S5 4K = H A KR A

3)

G,+G,-1 T‘J

SN SN

N\
\

B -5



M. BESHTIIVE R I KNG 2. 2T, 1B I S AR e £k 26° 367,
2. EEMITEER

g @) ULIST
—ri— 10 READ G1,G2
E)‘_G’_”_Gz_‘ 90 LET F1=G2/2
! 30 LET N=G1+G2-F1
*mﬁﬁﬁﬁmﬁ%@ﬁﬁﬁ*Fw 40 LET F= SQR (F1#F1+N#N)
- y 50 LET Bl= ATN(F1/N) % 180/3.14
RIS ACF 2 71— N | e
' 70 DATA 1,2
B VENE F| 80 END
v URUN
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